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1. Count the dots in the array and fill in the 2’s times table.

2. Count the dots in the dominos and fill in the 2s time table.

3. Look at the multiplication array and complete the 2s times
table.

2 Times Table Worksheets
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4. Total number of pencils = pencils in a group x number of 
groups  

 
5. How many earrings are there in all? 

 
____ Groups x 2 = ____ ear rings 
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6. Colour the multiples of 2 recalling the 2’s times table. 

 
 

7. Multiply and write the answer. 

 

 
 
 

8. Complete the grid. 
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9. Match: 

 
 

 

 

 

 

 

10. Multiply using the 2s times table. 
a) 123 x 2  = 
b) 214 x 2= 
c) 324 x 2= 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2 x 5 = 
 

16  

2 x 4 = 
 

6 

2 x 3 = 
 

10 

2 x 8 =  
 

8 
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1) 4 x 2 = 8 

2) 2 x 3 = 6 

3) a) 2 x 1 = 2  
b) 2 x 2 = 4 
c) 2 x 3 = 6 
d) 2 x 4= 8 
e) 2 x 5 =10  
f) 2 x 6 =12 
g) 2 x 7 = 14 

 
4) 8 pencils = 2 x 4  

5) 8 x 2 = 16 
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6) 

 
7) 16 

8 
18 

8) 

 
9) 10 

8 
6 
16 

 
10) 
 

a) 123 x 2  =246 
b) 214 x 2= 428 
c) 324 x 2=648 
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1. Table of 2 follows the pattern of 2, 
4, 6, 8, and 0 at one's digit place. 
 

2. It always has even numbers. 
 

3. It is easier because it can be 
learned with the help of skip 
counting by 2. 

 

 
 
 
  

4.  
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